Purpose:

Calculate the drag force of coffee filters of different masses.

Equipment:

5 coffee filters, motion detector, triple scale balance, level, calculator, brain, selflessness, patience, common sense, ability to function as a normal human being, and Mrs. Geddes.

Procedure:

We dropped coffee filters of different masses under a motion detector, used the calculator to find the distance vs. time graph, and calculated the terminal velocity and drag force.

Data and Analysis:

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	First Run
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	m = .0018kg
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	drag= .01764
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	Second Run
	
	
	
	
	
	
	
	
	
	
	
	

	
	m = .0036kg
	time (s)
	Distance (m)
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	Third Run
	
	Time (s)
	Distance (m)
	
	
	
	
	
	
	
	
	

	
	m = .0052kg
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	Fourth Run
	Time(s)
	Distance (m)
	
	

	
	m= 6.9g
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	5th Run
	
	Time(s)
	Distance (m)
	

	
	m= .0089kg
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Conclusion:
We found that drag force increased with more mass. 
